C:# Yro TaKo€ YMHOXKEHUE JECATUYHBIX 3HAKOB Mmst:

Pemnre Kaxayro 3aaaudy. OTBeTHI
1) Ecim 10 x4=40,T01 x 0.04 =
1.
2) Ecmu2 x7=14, 10 0.002 % 0.007 =
2.
3) Ecim?2 x7=14,100.02 x0.007 =
3.
4) Ecim4 x6=24,100.04 x 0.6 =
4.
S) Ecmm 10 x 5=50, 10 0.1 X 0.05 =
5.
6) Ecim?2x3=6,100.2 x0.003 =
6.
7) Ecmu 9 x 8 =72, 10 0.09 x 0.008 =
7.
8) Ecmm3 x9=27,100.003 x 0.009 =
8.
9) Ecim 7 x10=70,100.7 X 0.01 =
9.
10) Ecmu 8 x 9=72, 10 0.08 x 0.09 =
10.
11) Ecim 4 x4=16, 10 0.004 X 0.4 =
11.
12) Ecmu 8 x 3 =24, 10 0.008 x 0.003 =
12.
13) Eciu2 x7=14,1002 % 0.7 =
13.
14) Ecom 10x8=280,101 % 0.8 =
14.
15) Ecmu 3 x9=27,100.003 x0.9=
15.
16) Ecim 9 x3=27,100.09 x 0.3 =
16.
17) Ecmu 2 x 8 =16, 10 0.002 x 0.08 =
17.
18) Ecim 9 x6=154,100.9 0.6 =
18.
19) Ecmu 8 x 5=40, To 0.008 x 0.05 =
19.
20) Ecmu3 x7=21,7100.3 x0.007 =
20.
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Yro Takoe YMHOXCHHUC NCCATHYHBIX 3HAKOB Nwms: Ka04 K NIpaBUIbHBIM O0TBETAM
Pemnre Kaxayro 3aaaudy. OTBeTHI
1) Ecim 10 x4=40,101x0.04= 0,04
1 0,04
2) Ecmu?2 x7=14, 10 0.002 x 0.007 = 0,000014
> 0,000014
3) Ecim?2 x7=14,100.02 x0.007= 0,00014
5. 0,00014
4) Ecim4 x6=24,100.04 x0.6= 0,024
4 0,024
S) Ecmm 10 x 5=50,100.1 x0.05= 0,005
5. 0,005
6) Ecnmu2 x3=6,100.2x0.003= 0,0006
— o 0,0006
7) Ecmu 9 x 8 =72, 10 0.09 x 0.008 = 0,00072
7. 0,00072
8) Ecmu3 x9=27, 100.003 x0.009=0,000027
g.  0,000027
9) Ecim 7 x10=70,100.7 x0.01 = 0,007
9. 0,007
10) Ecim 8 x9=72,100.08 x 0.09= 0,0072
0. 0,0072
11) Ecim4 x4=16,100.004 x 0.4= 0,0016
— W 0,0016
12) Ecmm 8 x 3 =24, 10 0.008 x 0.003 = 0,000024
2. 0,000024
13) Ecmu2x7=14,1002%x0.7= 0,14
13. 0914
14) Ecm 10 x8=80,101x0.8= 0,8
14. 0,8
15) Ecmu3 x9=27,100.003 x0.9=0,0027
5. 0,0027
16) Ecim 9 x3=27,100.09 x03= 0,027
16. 09027
17) Ecmu 2 x 8 =16, 10 0.002 x 0.08 = 0,00016
7. 0,00016
18) Ecimm 9 x6=54,100.9%x0.6= 0,54
18. 0954
19) Ecmm 8 x 5=40, t0 0.008 x 0.05=0,0004
S 60,0004
20) Ecm3x7=21,100.3x0.007= 10,0021
2. 0,0021
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